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in general, helicity amplitudes are complex numbers, so, if zi = ai + ibi and
let’s also put some xi real functions in general calculation (which represent the
wigner d functions in our distribution):

|
∑

i

zixie
iαiφi |2 =|

∑

i

aixie
iαiφi + i

∑

i

bixie
iαiφi |2

=|
∑

i

aixie
iαiφi |2 + |

∑

i

xibie
iαiφi |2

=
∑

i

∑

j>i

(2 − δij)aiajxixj cos(αiφi − αjφj)

+
∑

i

∑

j>i

(2 − δij)bibjxixj cos(αiφi − αjφj)

=
∑

i

∑

j>i

(2 − δij)xixj(aiaj + bibj) cos(αiφi − αjφj)

Which results in
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members of sumation.
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